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11" Bio Botany Way to Successé
Way to Success Model Question Paper
A (Based on new Question pattern 2019)
| o ulfl - sTeugeiwied / BIO - BOTANY |
Gmryb: 2.30 wewf | [ Qurss wAHIGUemIEET: 35
Time Allowed: 2.30 Hours] [ Maximum Marks: 35
ugsh — |/ Part-1 8x1=8

Car@ssiul L alamsseaied 65 CUTHSSWLTE alenL 6IHLMS 61(RSHIH. DeialemL Gl
eiewienemILD, DISBSFW almLenwub OFHefeurs 6I(DHIS.

Choose the most suitable answer from the given four alternatives and write the option code and the
corresponding answer.

1. smed. .emauy BHoed emeugerd  ewdwll QUBEIeTeNEI.
1) RNA =) DNA @) mMRNA 7) tRNA
Cauliflower Mosaic virus possesses
a) RNA b) DNA c) mMRNA d) tRNA
2. LereumeusiouBensbll QUTHHSIS.
A) BBmaIsH HTEITLD — (i) QeusomGILD6D
B) swerougrserd - (i) GBLILBS6
C) smyssp 2 hal Sk - (iii) o1 @wesHMHD Hewih
D) Osrim Geuyaser - (Iv) denygmpbgiod
1) A-(ii) B-(iii) C-(iv) D-(i) =) A-(i) B-(ii) C-(iv) D-(iii)
@) A-(iii) B-(iv) C-(ii) D-(i) 7) A-(iv) B-(i) C-(iii) D-(iv)
Match the following
A) Pitcher plant — (i) Velamen
B) Asparagus - (i1) Nepenthes
C) Sucker - (iii) Cladode
D) Epiphytic Root - (iv) Chrysanthemum
a) A-(ii) B-(iii) C-(iv) D-(i) b) A-(i) B-(ii) C-(iv) D-(iii)
c) A-(iii) B-(iv) C-(ii) D-(i) d) A-(iv) B-(i) C-(iii) D-(iv)
3. flwrenenssd CHIHOSBHB 611RSHIB.
Sl) Quflw QFed - umdleflwm o)) UGHISmISED @evens0 — alevmid &0
) @m enamiked - Gouiu &m 2 uif F) UehewF — OHmevsull & 2 uilf
Find out the Correct option
a) Large Cell - Bacteria b) Chloroplast absent - Animal cell
c) Binary Fission - Eukaryotes d) Fungi - Prokaryotes

4. Gaupiul L getenpds CxHIHOH®.
3) &0 GFeudeiT ) BEHCrmervdelenyBEeT &) 6IVIDL CF60H6IT ) FHIeN6wTOF60H6IT
Pick out the odd man out.
a) Stone cells b) Macrosclereiods  c) Bone cells d) Companion cells
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11" Bio Botany Way to Successé
5. Uenmeroor Aenseyb@L Ul L QFs0sns0 B (DIGV6VEH!) MABLILT LTeMd HMIFaIed DeUHHT60 666N
Hlap?
o)) QF606d6n elledBLILIIDSHHID GHMMBULD o) GFevellsir ellewBLLIISHSD LLUID HELD

@) QFsvedlen elleMBLILIRSHLD DIH B SHELD ) GaFs0ede BFluied M6 &HemBULD
When a plasmolysed cell is placed in water (or) hypertonic solution, what happens?
a) Turgor pressure of cell decreases b) Turgor pressure becomes zero
c) Turgor pressure increases d) Water potential of cell decreases
6. Bl (A): @8y HTaurHHeL BJewi(h CUMBUITE REN6VH6T HTWILILILLTEL DHBE SHelge
QAemev DWIDS| 6T6imI  GILIULI.
snyemid (R): Qmeuigan Qemevienios)] GLIHLIOLITEVILD BIOUTIDE SHTeufmhiseled DEHIoneEd  SemilILIBalsme.
(@) (A) wpmid (R) @yewipio o _ewieniowit@ld. (R) eteiugl (A) etediLighen Ffluwimen elendsaIom@Lw
(b) (A) wmpib (R) @yswihio 2 _swienowin@d. (R) steiiigl  (A) eleiigenr Fhwimer elenebald DieL6v
(c) (A) 2_swiemwit@Lbd (R) eTeiilg HUBI G LD.
(d) (A) eteiiugl HupT@Ld. (R) 616G 2 6mTemoWITGLD.
Assertion (A): Occurrence of two different kinds of leaves in the same plant is called heterophylly.
Reason (R): Heterophylly is found in many aquatic plants.
(@) Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(c) (A) is true (R) is false
(d) (A) is false (R) is true
7. qef&FCarsemaulsn Gurs GeuefiliLBD SbHendemen suru] 61gHedmbEH QIMSBEHI?

o) CO2 <) H20 ®) uFemFWID F) 2 L &

Oxygen which is liberated during photosynthesis comes from

a) CO; b) H.O c) Chlorophyll d) Nucleus
8. adhdeen eutu] BHBE UWSTLBHBSI.

Sl Hey 2 BUHT) o) s 2 FIHMVSH STOHHELD

) BTEOUIS SHENWITHGLD F) @emev 2 HlifHmevd HHHGLD

Ethylene gas is used for

a) Growth of Plants b) Delaying fruit’s abscission

c) ripening of fruits d) stopping the leaf abscission

ugd® — 11/ Part-1I

amalBGuaib BTG alaMmbEEnsE ll H(Hd. 4x2=8
Answer any four Questions:
9. auemywm — Wenmerodl(H.

Define — Plasmid.
10. (pemenTdb&HHHSHI 6T6IMBIT60 6160160 ?

What is Plumule.
11. 1B HHIBBT B HHD.

1. ..GuBudluiler BirdsHmeurid 2. 6VevsellGuidlulleir @ LlpLD.
Give example.
1. Hydrophytic plant in Fabaceae 2. Bulb in Liliaceae
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12. wevremilebeom euenliL] (WemB FrHaWIoT? sledeumy)?
Is soilless culture possible? How?

13. auemgwim — GoeuremiGL TG miD.
Define — Quantasomes.

14. Hewensareneodlerd BlapFfulsn QUB OrdHs My ellenarenul 61(LpSHI%.
Write the overall reaction of Glycolysis.

ugd — 111/ Part-1II
gCaramild cpeiiy eleMmeEEHHEG olenLwellbsalb. elenT eeml 196@ HeNgLILNTS allenL Wi6idsab.
Answer any three Questions. Question number 19 is Compulsory. 3x3=9

15. @afl 2 _ullfl etetimmed etetien? LychewdF 2 Uil 6TeOIBI6L  6l60T60 ?
What is Phycobiont? What is mycobiont?

16. HewTigen cHGIGI 6UENEG 2 (HLOTBBHIGBENSNT  61(LDSHIH.
Write the three types of stem modifications.

17. suemywip - @HLPMI0S).
Define — Aestivation.

18. 2 L @bdH BMEVHIHIEN6T 6TEIMBT6L 616016017
What is Sunken stomata?

19. RNA&6i clpsiil 6UemBHMEUID, DIGH6i LIsWNBHEN6UID  6T(SI.
Write the three types of RNA and their function.

ugd — IV /Part-1V
Ueleupd elemssendd ol H(H. 2x5=10
Answer all the Questions.
20. emNGouflelt o (HOTBBHIGMENSH Hbd 61BHHIGHT._ B OBHID UL BIHEHL 6T 611D,
(S1606051)
Amalmauiemsy HTauy Gemsouier GHBISE Ooul HHCHTHBML LLLD suenIhdhl LITHD G
Write the tap root modifications with examples and diagrams.
(or)
Draw the labelled diagram of the transverse section of Dicot leaf.
21. GameonBend GHBUOUSSH6N AV LIGWILIBEMETUID, LO6V] 6UHILILLD LOBBILD L06VJ @EHHTHMS 61(DSHI.
(S1606051)
FHmeNBBHTMEVF 0 HBIDFFUNHT QUHTLILID GUEDTH.
Write the diagnostic features of Solanaceae. Draw the floral diagram and write the floral formula.
(or)
Write the flow chart of Glycolysis.
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